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'DODP�SHQJHUMDDQ�7XJDV�$NKLU�LQL��EDQ\DN�SLKDN�\DQJ�WHODK�PHPEHULNDQ�EDQWXDQ��

GXNXQJDQ� GDQ� GRD� NHSDGD� SHQXOLV� VHKLQJJD� SHQXOLV� GDSDW�PHQ\HOHVDLNDQ�7XJDV�

$NKLU� LQL� GHQJDQ� EDLN��2OHK� NDUHQD� LWX� SHQXOLV� LQJLQ�PHPSHUVHPEDKNDQ� 7XJDV�

$NKLU�LQL�XQWXN�

�� %DSDN�0DPDQ�GDQ� ,EX�(HP�0XQDZDWL� WHUFLQWD VHODNX�RUDQJ� WXD�SHQXOLV��

7HULPDNDVLK� VHODOX� PHPEHULNDQ� GXNXQJDQ� GDQ� MXJD� GRD� NHSDGD� SHQXOLV�

VHKLQJJD� SHQXOLV� ELVD� OHELK� WHUPRWLYDVL� GDQ� ODQFHU�PHQ\HOHVDLNDQ� 7XJDV�

$NKLU�LQL��6HPRJD�LQL�PHQMDGL�ODQJNDK�DZDO�XQWXN�PHPEXDW�%DSDN�GDQ�,EX�

EDQJJD�WHUKDGDS�SHQXOLV�

�� $GLN�GDQ�NHOXDUJD�WHUFLQWD��WHULPDNDVLK�VHODOX�PHQGXNXQJ�GDQ�PHPEHULNDQ�

GRD� \DQJ� VHQDQWLDVD� GLOLPSDK� FXUDKNDQ� VHKLQJJD� SHQXOLV� GDSDW�

PHQ\HOHVDLNDQ 7XJDV�$NKLU�LQL�

�� *LQD�0HOLVD�0DKDUDQL�\DQJ�VHODOX�PHPEHULNDQ�VHPDQJDW��GXNXQJDQ�VHUWD�

EDQWXDQ�PRWLYDVL�NHSDGD�SHQXOLV��

�� .HOXDUJD� 3RQGRN� ,QGDK� VHUWD� WHPDQ�WHPDQ� \DQJ� GLDQWDUDQ\D� $IUL]DO�

+DP]DK��$OGL�6\DKHQGUD��$QJJD�1LUZDQD��)LNOL�3HUGDQD .XVXPD��/LQJJD�

3ULDGL�GDQ�5DIOLDQV\DK�5XVODQ�\DQJ�VHODOX�PHPEHULNDQ�GXNXQJDQ�NHSDGD�

SHQXOLV�

�� 3DUWQHU�7XJDV�$NKLU�SHQXOLV�\DQJ�VHQDQWLDVD�VHODOX�PHPEHULNDQ�GXNXQJDQ�

GDQ�VDOLQJ�PHQJLQJDWNDQ�VDDW�SHQJHUMDDQ�7XJDV�$NKLU�LQL��6HUWD�GXNXQJDQ�

GDQ� PRWLYDVL� \DQJ� $ULI� 5DPGKDQL� GDQ� 0 ,NKVDQ� $PDQXU� 5L]D� EHULNDQ�

NHSDGD�SHQXOLV�

�� .HOXDUJD� EHVDU� SHQJXUXV� +06,� \DQJ� VHQDQWLDVD� PHPEHULNDQ� GRD� GDQ�

PRWLYDVL�WHUKDGDS�SHQXOLV�

�� .HOXDUJD� EHVDU� NRPXQLWDV� 36,� \DQJ� VHQDQWLDVD� PHPEHULNDQ� GRD� GDQ�

PRWLYDVL�WHUKDGDS�SHQXOLV�

�� .HOXDUJD� EHVDU� .RPLQIR� +06,� \DQJ� VHQDQWLDVD� PHPEHULNDQ� GRD� GDQ�

PRWLYDVL�WHUKDGDS�SHQXOLV�


